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CLIENT SERVER COMPUTING

Fruffa awa - =) : [ftrenan 3 : 70
Time allowed : Three Hours] : [Maximum Marks : 70 -
P () R IE AT E, Sy 7 @ fd IR & IR I |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) v YT & G} WP @) AR O AT g Fad |
Solve all parts of a question consecutively together.
(iii) mmﬁ#g#mzﬁﬁﬁf
Start each question on fresh page.
(iv) ﬁwﬁﬁmﬁ##@ﬂﬁa@sﬁwﬁm? /
Only English version is valid in case of difference in both the languages.

1. (1) dwende wdRnient ¥ IR /2

(a) LIRS AT (b) ea fifén

) ¥« (d) udaa e
Example of client server model is/are

(a) World Wide Web (b) Network printing
(¢) E-mail (d) All of the above

@ e (b)) "H c) = @ =
Central computer which is powerful than other compulers in Network.
(a) Client (b) Server (¢) Hub (d) Switch

(3) RPC Mmmaﬁw&mﬁﬁmm%

(a) |K (b) T

© @3 @®)a () I § A HIE A
RPC (Remote Procedure Call) is initiated by

(a) Server (b) Client

(¢) Both (a)and (b) (d) None of the above
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GIgel Tat 1 A 2

(@) CPU & =ga&d (b) HEE RS ST FIg hl AT
(c) e $i=aen (d) I H F BT

What is role of file server ?

(a) Management of CPU

(b) Management of central storage and data file
(c) Error Management

(d) None of the above

RPC %l AT@HA AN E

(a) WidHicd $i (b) s &t

(c) wR#H (d) e a¥fi i
RPC requires

(a) Protocol (b) Client

(¢) Server (d) All of above

o @ Fede wdt wiee &1 3@ 2

(a) FTP (b) DNS

(c) Telnet (d) 39t adi

Which of the following is example of client server model ?
(@) FTP (b) DNS

(c) Telnet (d) All of above
Fiipa ey 1 grer 6 orae & faw g 2

(a) HTSH HaX (b) SRITFR

() FWHA (d) S et

For management of data in centralised systems which is used ?
(a) File Server (b) Data Server

(¢) Web Server (d) All of above

GUI Fr§e # GUI 2

(a) WThehel ZoR S35 (b) UIfthehe YR ATgeH

(c) Tfthehet ZoR JUeTHE (d) Iwie gt

In the term GUI client, GUI stands for

(a) Graphical User Index (b) Graphical User Item
(¢) Graphical User Interface  (d) All of above
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OOUI &1 401 7T 2

() Hisoiae AT ISR S (b) Jisaae % o
() difeNae e Ior F9eThd (d) ot 1 & IS T
Full form of OOUI is

(@) Object On User Index

(b) Object Of User Index

(c) Object Oriented User Interface
(d) None of the above

o it < Fede ) STy ST AR

(a) HeTHR () PEaER

(c) =@ (d) e d 3 g
The server which does most of processing inspite of client is
(a) Fat Server (b) Thin Server

(c) Web Server (d) None of above

3T www Ueh TR Fodzaa afda 2 |

(a) fafiez () fTaafa

() 39 gHl () FHIAFE T
Today wwwisa ____type of client/server service.

(a) limited (b) distributed
(c) both (d) none of above

(12) warde ool ga & dra 1 FE &

(13)

(a) FHI (b) EEIR

© Ffemas (d) Iulied d 3 HE A
Link between client and server is

(a) Firmware (b) Hardware

(¢) Middleware (d) None of above

0S (ﬁﬁﬁﬂﬁ@ﬁa&twaﬁmmt,@m%

(a) W OS (b) TEE OS

(¢) Tw@@os (d) I 8 FE
The OS (Operating System) which runs on server is —

(a) Server OS (b) Client OS

(¢) Real OS (d) None of the above

P.T.O.



1T310
(14)

(15)

(16)
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(18)

(40of 8)
FTP (GTee gawt Motwia) e snffes mam? :
(a) Tasmgfsw (b) wATEE TR
) (a)d(b) (d) I | A HIE TE
FTP (File Transfer Protocol) is built on '
(a) peer to peer (b) client server
(c) (a)&(b) (d) None of above
HTTP sl (Fade) G i 9oH w1gA Haardl 2
(a) FRT TR (b) @A
(€) R arH (d) ThETE
The first line of HTTP request message is called
(a) Request line (b) Header line
(c) Status line (d) Entry line
API &1 Q01 AT &
(a) Uiy THITH o9 (b) TARYA ST $9THE
© @3(b) () e A A Hi

Full form of APl is

(a) Application Program Index (b) Application Program Interface

(c) (@&(b) (d) None of above
MOM 2

@) Ao ifcie fifsmdan () A8 A
) (@d(b) (d) Iorea | B TE
MOM is

(a) Message Oriented Middleware
(b) Message On Media

(c) (a)&(b)

(d) None of above

CORBA 2

(a) WHS (by PR uhe

() @4d() (d) Iutea d A g A
CORBA is

(a) Standard (b) Messaging Mechanism

() (@& (d) None of above
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DCOM fafifa e a2
(a) WIEHIEIR G (b) 3 g
(¢) ®AG (d) Iudiea ® B HIE TE
DCOM is developed
(a) by Microsoft (b) by Oracle
(c) bySun (d) None of above
e Sifedae o T a6 A AeA IR HH

(a) A b &=
© foie @ "R
An object acting as gateway for client side

(a) Skeleton (b) Stub
{c) Remote (d) Server

(1) TR T D T2 FEAal &

(22)

(23)

(a) THeAeA (b) wE

() fae (d) TR

A gateway for the server side object is

(a) Skeleton (b) Stub

(¢) Remote (d) Server

gt Y R W1 R Fdl 8

() ToermEE (b) Jeade @

(€) Titwm Fa (@ I H E BIE T
Server which implements transaction

(a) Business Server (b) Object Server

(c) Transaction Server (d) None of above
DBMS %1 90 ¥ 2

(a) SIeEE B FH (b) sTeraE e FEl

() ey tysie e (@) e H & HiE T
DBMS stands for

(@) Database Main Server

(b) Database Management Server

(c) Database Management System

(d) None of above
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(24) aTE STET SHNebiel HAE (W) PR 7

(a) waHAN (b) e AR

() TozAw (d) TENE AN

Binary data protocol layer is

(a) Stub layer (b) Skeleton layer

(c) Remote layer (d) Transport layer
(25) RMI =1 ¥ 2

(a) Todie e aeH (b) foile A8 s

(c) T dere gie (d) Toite Az gEHTH

RMI stands for

(a) Remote Mail Invocation

(b) Remote Message Invocation

(¢) Remaining Method Invocation

(d) Remote Method Invocation
(26) T /aat Fnfhew B Teha &

@ 2f= (b) 3fem

© @3O3 (d) Iule o A B

Client/Server Architecture can be

(a) Two (2)tier (b) Three (3) tier

(c¢) (a)& (b)both (d) None of above
27) weha e g e v & fradwe 360 st R

(a) T Hsfi= (b) e wyfA

() PRw = (d) I H &S

Machine which sends the request to access the data is

(a) Server Machine (b) Client Machine

(¢) Request Machine (d) None of above
(28) werde g PR Weft vt 2

(@ TR (b) AeH

© (a9 b)aH = (d) IedaaH A w7

Client sends request to

(a) Server (b) Node

(c) (a) & (b)both (d) None of above
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2.

(7 of 8)

(@) HETEHI Sl FawTSH & seE

(b) Bl H T

(c) HAEHEEE

(d) 3yl at

Advantages of client/server computing is
(a) Improved sharing of resources

(b) Integration of services

(c) Easy maintenance

(d) All of above

(30) U I e (08) A SaTH Bl 2

@ a9 (o) st 6 (b) uwEdde Fanai
© @3@O)TAR (@) IR AR T
Server need from Operating System (OS)

(a) Base services (b) Extended services
(¢) (a)& (b)both (d) None of above

farifera =t uftfia Hifae -
Define the following :

M

(ii)

(iii)

i)

\))

(i)

HIgA TAl

File Server

GUI Feimde

GUI Client

.t 3.

API

Fedge gat

Object Server

Frfin o

Operating System

BIA gl o foTe TS HAU HCT ! g9y |
Explain client server architecture for small shops.
2 o a 3 fea e we Ffn iR T HfY |

Differentiate between 2 Tier and 3 Tier client server computing.

345
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(2x5)

(5+5)
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4. (@) g OS & s Al i ravaa Edl 8 7 W |
What services does a server need from OS ? Explain.
Gi) FEZ OS % ISl ! AT |
Explain the examples of client OS. (5+5)

5. (i) ﬁ%a%mw%?ﬁﬁaﬂmsﬁmmmﬁmmﬁwm%?ml
What is Middleware ? How different services are accessible through it 2 Explain.
(i) API ¥ Jaal Sl oY |
Explain components of APL (5+5)

6. () Sfrq Sere afea e g R Sewon S §eEe |
Explain Peer to Peer communication with suitable example.
(i) RPCHIE? 2 iR @t 3fia IeTEwT |ied JHAEy |
What is RPC ? Explain this process with suitable example. (5+5)

2. CORBA @41 DCOM %! fareamyee SRS |
Explain CORBA and DCOM in detail. (10)

k- @ wmma?mmﬁma?
What is server scalability ? Why it is needed ?
(ii) ¥z Ferde 9 the HER A Jiat wTE HIfT |
Differentiate between Fat Server and Fat Client. (5+5)

9. Frefufaa w afm fowf fifg - (el fA )
Write short notes on following : (on any three)
() 3TeORfE Femse/ad
Intergalactic Client/Server
(i) OOUI FTm3eq
OOUI Clients
(i) IS FeTSh Bl
Integrated Network Services
(iv) TATEE e T

Client Server Internet (4+3+3)




